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of professional experience, Furthermore, 35% of the accountants in this firm
have MBA degrees, and 45% have less than o years of professional experience.
If one of the firm’s accountants is selected at random, what is the probability
that this accountant has an MBA degree or at least 5 years of professional
expertence but pot both?

2. (2D pte.) There are three doors: 1,2, 3. A grand prize lies behind ope door:
nothing lies behind the other doors. The contestant wing the prize by choosing
the correct door. The game begins with the contestant choosing an initial deor.
Monty Hall then opens one of the other doors, showing that nothing lies behind
it, and asks the contestant whether she wants to keep the original door, or to
choose the other unopegsed door.

(a) Compute the probability that this contestant decides to change doors.
(b) Compute the probability that this contestant decides not to change doors.

Define Events before any antalysis. Solutions without the event definition will

3. (15 pts.) We assume that there are N voters in the population, of whom N
will vote for Republican and Np will vote for the Democrat. The eventual
winaer will be the Republican if Nr > Np, and will be Democrat otherwise,
but we don’t know which until alf of the votes are tabulated. (To simplify the
example, we assume there are oely two candidates and that the election will
not be in a tie.) Let’s suppose that a small Percentage of the votes have been
counted and the Republican is currently akead 540 to 460. On what basis can
the networks declare that Republican the winner?

FERAEFTH (EEBRTEETH - HEXHRER) PRESHTES D
TR, (M) o BR—SRFESEET - & GBF 50 F gy

FPQOPB) « ot - k3 F-EE0 LR ﬁ#i‘tﬂ#%ﬁﬂ?ﬁﬁ?ﬂ
Aot XA 0 pis.) -




;H—Mﬂ-:LLhMﬂ% (7 BR s AL AL as,
g% _ .= H M

Y -~

S

:-?'I
5. ARBHERANBRUATZEFEEF  EF-BETFRATH - LETK
BT EME » o T
AFR BA% CHE
L 2 ¢ 100 million $ 10 million $ 20 mitlion
Lk ] $ 10 willion| 3 domillion $ 100 mitlion
o7 $ -150 gillion $ -10 million; & -100 miilion

(1) (10pts) &St - £ - HOME 52055 FINDOW000 4 % & Ak
BUIR A > 40 F & o MBS AR R RB A1 RSN E S B B0% -

409 -
Z THeBe, # Tkt
WA 60%| - 30%
T % ik 20%| A0%
Lk i 20%| 30%

RlbMEze40ERE  RERRT—F7

(2) (10ps) ZAFARENN  ROREALEHE - 2FTHRLT 10%48
B8 (i fkipbrerd® 40% <> 60%): MERHTHEE 2R
B T EELAFERTF?



